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[ 7F8zsteAt A ]

2:(600) At4el BH(670) BYRAeA  MEH(671) O|A+ =:(01) 0lZ0[2F, (SHo| : H L)
= = oque |1 B 2y
H-g-Hg-F O 4t of
2 A 50,584,458 | 49,659,481 924,977
600 AlF4 24,584,792 | 22,376,338 | 2,208,454
670 el 18,873,892 | 16,665,438 | 2,208,454
671 0|2t 70,000 50,000 20,000
01 oz0[atY 70,000 50,000 20,000
0 0I20[2t & £ #3 (70,000,000) - 7|3 (50,000,000) = 20,000
679 7|EtEYel+Y 10,061,911 | 7,873,457 | 2,188,454
01 7IElCi<] 1,992 1,800 192
0 QAL AR E 24 (1,992,260) - 7|14 (1,800,000) = 192
09 7J[EtE YL 10,059,311 | 7,871,049 2,188,262
O7H8 = 333t 2|Ald SQIHM2IAlY H2|AY AR G| YRLE 2H0|S3 Bda
27 (45,303,198) - 7|14(0) = 45,303
O718, 3 2= FH A (Sheetd 3t Bhe)
83 (2,142,959,271) - 714(0) = 2,142,959
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2:(100) 22442 & (170) 2A240la M (171) AldEEYasY  =:(01) Al4EEa3Y (T2 )
= = oque |1 B 2y
I of & o
100 AH2A2 25,999,666 | 27,283,143 | A1,283,477
170 A2z 20,429,351 | 21,712,828 | 1,283,477
171 NEEE=4Y 2,200,000 630,000 1,570,000
01 A2z 2,200,000 630,000 1,570,000
0 BBSIAE HonRES
44 (2,200,000,000) - 7| (630,000,000) = 1,570,000
173 ElRAHEERZ Y 18,229,351 | 21,082,828 | ~2,853,477
01 ZinEzzZ4Y 7,378,000 9,847,000 | A2,469,000
O=ZERIZ4Y A2,469,000
o (st 2| &3)dl2| 3ot 2lAd SHAIE (12
24 (0)-7|4 (702,000,000) = ~A702,000
o (Bt 2|d &) iF AE33steAelAld SHAIE (12
24 (0)-7|4 (140,000,000) = ~A140,000
o (S22l &5)¥E 335teelAld SHAIY (22
24 (0)-7]4 (325,000,000) = A325,000
o (Bt 2|d &3) /et 3FotrRelAld SHAIE (13
24 (0)-7|4 (300,000,000) = ~A300,000
o (ot =2ZH|)HY, Mot ot 2 HH|AMY
44 (200,000,000) - 7|8 (500,000,000) = ~A300,000
o (Str2H|)sia|, AR Stz FH|ALY
274 (300,000,000) - 7|4 (1,002,000,000) = ~A702,000
02 ElAHEERFSTY 10,196,837 | 10,329,828 A132,991
O stadsAE2 7| (RN LAEEIA) Y= A132,991
0 BE7|ZAI o
274 (2,015,565,000) - 7|4 (2,026,556,000) = A10,991
o (Bt 2|d &) g AE233steA2lAd SHAIYE (12
24 (0)-718 (15,000,000) = 215,000
o (St 2| &3)dl2| FFotrA2lAd SHAIE (14
44 (0)-7|8 (75,000,000) = A75,000
o (St 2|d &3)dE SaotraelAld SHAIY (24
24 (0)-718 (17,000,000) = 217,000
o (ot 2| 2H2) /et Z3otrA2lAd SHAIE (12
44 (0)-7/4 (15,000,000)= A15,000
03 AlzHEZZ5Y 654,514 906,000 A251,486
O AEHBEZRZ42 AN251,486
o (ot e|d &E)%e| SScteA2|Ald SHAY(13))
24 (0)-714 (120,343,000) = A120,343




[ 7FBZatr =AY A
2:(100) AH=2H+¢

]

Sh(170) AA=YAHSTY

:ur

(=)
=

=
bru]

3 M-

(=1
=

o (Ste{2|y &) thw
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HALI (221
(0)-714 (55,714,000) =
A (124)
(0)-714 (51,429,000) =
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